
XR/DRL/XRL/XRLP_2017.01

          
400-622-6271 



XR/DRL/XRL/XRLP

www.doochpump.com.cn



Contents

01-01

02-02

02-02

02-03

03-07

07-07

08-08

08-10

11-11

11-11

11-12

XR/DRL/XRL/XRLP 13-13

XR/DRL/XRL/XRLP 14-14

XR/DRL/XRL/XRLP 15-15



01DOOCH PUMP

XR/DRL/XRL/XRLP

    

     

    



XR/DRL/XRL/XRLP

02 DOOCH PUMP

4 

3 

   

   

XR    DRL/XRL/XRLP 

XR    DRL/XRL/XRLP 2



DOOCH PUMP

XR/DRL/XRL/XRLP

03

NPSH

Hf

Pb

Hv

H

H = Pb x 10.2 - NPSH - Hf - Hv - Hs

Pb

NPSH

Hf 

Hv

Hs

5 

NPSH

Hf

Pb

Hv



XR/DRL/XRL/XRLP

04 DOOCH PUMP

b
h

g

m

c

q



XR/DRL/XRL/XRLP

05DOOCH PUMP

 

ff

pump
f BL

m
h

5.1

Lf

Lf

2200 3/mkg



XR/DRL/XRL/XRLP

06 DOOCH PUMP

5.4 

XR,DRL,XRL,XRLP [Nm] [Nm] 

1 5 40 50-60 

10 20 50 60-70 

32 150 70 70-80 

DN[mm]  XR,DRL,XRL,XRLP ,Y [N] ,Z [N] ,X [N] 

25/32 1 5 760 1170 780 

40 10 1000 1250 1100 

50 15 20 1350 1650 1500 

65 32 1700 2075 1875 

80 45 2050 2500 2250 

100 64 90 2700 3350 3000 

125/150  120 150 2700 3350 3000 

DN[mm]  XR,DRL,XRL,XRLP 
Y

[Nm]  

Z

[Nm] 

X

[Nm] 

25/32  1 5 820 970 1220 

40 10 900 1050 1300 

50 15 20 1000 1150 1400 

65 32 1075 1225 1500 

80 45 1150 1300 1600 

100 64 90 1250 1450 1750 

125/150  120 150 1250 1450 1750 

Fx

Fz

Fy

Mx

Mz

My



XR/DRL/XRL/XRLP

07DOOCH PUMP

6 



XR/DRL/XRL/XRLP

08

7 



XR/DRL/XRL/XRLP

09DOOCH PUMP

[Nm]

4

M6x25 10 0.37~1.1Kw

M8x30 12 1.5~4Kw

M10x35 20 5.5~7.5Kw

4 8 M16x60 40 11~45Kw

4

M6x25 13 0.37~1.1Kw

M8x25 31 1.5~4Kw

M10x25 62 5.5~45Kw

2 4 M4x8 M5x8 2



XR/DRL/XRL/XRLP

10 DOOCH PUMP

~



XR/DRL/XRL/XRLP

11DOOCH PUMP



XR/DRL/XRL/XRLP

DOOCH PUMP



XR/DRL/XRL/XRLP

XR/DRL/XRL/XRLP

13DOOCH PUMP

DRL

DRL

XRL/XRLP

XRLPXR

XR

47

XRL

1

2

3
4
5
6
7

8

9

46

46a1

2
3
4
5
6
7

46

46a

1

2
3
4
5
6
7

8

9
2
3
4
5
6
7

10

11

1219a
19b

13
14
15
16
17
18

19a
19b 19

20
17

19a
19b

21
47

22

17

23
24

25
26
27

10

28

29
4
30
31

32

33

34
35
36

37

38

39
40

41
38a
42
43
44
41
42a

45

34

35
36
39
40

37

38

41

42
43
44
41
42a

45

34
35
36

39
40

41
38a
42

43
44
41
42a

45

32

33

37

38

4 30 31



XR/DRL/XRL/XRLP

14 DOOCH PUMP

54
54

DRL XRLP

XRL/XRLP

DRL
XR

XR XRL

8
9

10
11

12

16
17
18

19
20
21

22

23

24

25

14
13

15

14a
14b

19a

14a
14b

19

19a

14a
14b

19

19a

2414a
14b

25
19a

19

30

31

32
8

33

34

28

29

49
50

51
52
4

35

36

37

39

40

41

42

43

44
45

47

48

49
50

4

38

35

36
37
38
39
40

42

43

44
45

46

47

48

1
2
3
4
5
6
7

26
27

1
2
3
4
5
6
7

53

35

36

37

39

40
41

42
43

47

48

38

2
3
4
5
6

7

52
51

46

1

2
3
4
5
6
7

2627

53

44
45

46

36a

36a

53

53

53
47a

47a

44

44



XR/DRL/XRL/XRLP 

XR/DRL/XRL/XRLP

15DOOCH PUMP

18a18

18 18a

17a

17b

17c

19
20

19
20

56

56

56

DRL XRLP

DRL

XRL/XRLP

XR

XR

XRL 1

52

53

5

6

22

3

54

49

55

4

1 5253

22
3

544

49

55

1

2

3

4
5
6

52

53

22

3

54

4

7

8

9

10

11

12

12

13

14

15

16

23
17a

17b

17c

23a
17a

17b

17c

24

18a

19
20

21

25

26

27a

27

28

10

29

35

36

37

38

39

42

43

44

55

46

47

48

49

50

51

29

35

36

37

38

39

42

43

44

45

46

47

48

49

50

51

41a

55

46a

33

34

3

2

31

30

40

41

33

34

3

2

31

30

40

41

33

34

3

2

31

30

40

41

29

35

36

37

38

39

42

43

44

45

46

47

48

49

50

51

41a

55

46a


